PSE 476
Homework #19
Due 3/11/05

1. Ozone bleaching is carried out under which of the following conditions? (1 point)
a) Acidic

b) Neutral

c) Alkaline

2. True or False:  Ozone (O3) reacts rapidly with carbohydrates. (1 point)
a) True

b) False

3. True or false: Ozone will cleave the olefinic linkage in stilbenes. (1 point)
a) True

b) False

4. Why is ozone bleaching run at low temperatures? (1 point)
a) To protect carbohydrates by limiting the production of oxygen radicals from ozone.

b) To slow down the reaction rate to allow diffusion to keep up.

c) To limit alkaline induced yellowing of the pulp.

5. It is very important to wash pulp thoroughly after oxygen delignifcation if the next stage is an ozone stage.  Why is this? (1 point)
a) Oxygen bleaching is alkaline while ozone bleaching is acidic.

b) A large amount of ozone will be consumed by reaction with dissolved organics (carry over) in the pulp.

c) Dissolved oxygen in the bleaching liquor can cause ozone to degrade to radicals.

d) a&b

e) All of the above.

6. If you are peroxide bleaching at 95 C, are you delignifying or brightening? (1 point)
a) Delignifying

b) Brightening

7. In solution, peroxide can break down to a variety of compounds.  Which of the following is most responsible for delignification? (1 point)
a) Hydrogen peroxide

b) Hydroperoxy anion

c) Superoxide

d) Hydroxyl radical

8. Which is the desired peroxide compound for pulp brightening? (1 point)
a) Hydrogen peroxide

b) Hydroperoxy anion

c) Superoxide

d) Hydroxyl radical

9. Under what conditions is peroxide bleaching carried out? (1 point)
a) Acidic

b) Neutral

c) Alkaline

10. Which of the following is not added to stabilize peroxides? (1 point)
a) EDTA

b) Magnesium sulfate

c) DPTA

d) Sodium silicates
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